[ Efficiency vs vertpos |

0.01

0.009
0.008
0.007
0.006
0.005
0.004
0.003
0.002
0.001

Ja)

VS

0.954

1072

107 1

10 10?

—=— DQM_TT__mkFit-DQM_pless_orig

Efficiend —— pQm_TT__mkFit-DQM_pless_mod

0.0

0.009F- -+
0.008F- -+
0.007f- -+t
0.006 -+
0.00F- -+t
0.004F -+
0.003fF -+ e+
0.002F -+-+-jeee-fod
0.000- -+

Vs

....................

..................

....................

0.95!

[ Efficiency vs. sim PV z |

0.0

0.009
0.008
0.007
0.006
0.005
0.004
0.003
0.002
0.001

0

FRVS)

(5]

0.95

iy
(&2 L B AL LAY LA |
J
T




	Contents
	Page 1


